_ m > o |e m
83 s g 5 g4
sg . | € g S
28 g1 ¢ 2
=) kS o s
5 52 12|55 . | & g 5
o S8 |3 |2 (5205 & | 2| g 8| ¢
© -5 | |2 |88 o | § |xQ| & S
g gET ¢ | 55882 | & |B|35[25R %
© 285/ 5 | £ |%853| € |2 |=8|85fF ¢§
[ 829 % | 5 |5:08| § | € |28|6g| £
z 18 3|2 [N"z&| 8 | |55|%% =
= 3= & m > D & N No|®=
S o =2 | 5|32 - FIEE
g & g8 | S| 5|8 7. uglsg
©® 9 S8 (@] a E 5 GRCYEN: S
S c 95 £ 3 NS €8]
S B 33 m £S5 B3R
2 -z g5 f 53| E3 (3 -
o < 85 K ES| 2l
o g g8 0 8 =
[ [0 © £ (9] o
a 2 S 14 gl 2
S 3 5
< =
[0 o< pd =
g c S 2| 2|85 8
- T 19 Z>s |wZ| W | =20 &
S |g 8¢ °2 28| s | &
o B S 29 Fx| £ |5
To] o o o 4
2 2 ® ® =
| | | | | | | | | | | | | | | |
6316161164010 | £l 00 061+6
SN
sis
2616112816401°0 | =lu 100 021+6
<5
E.vm_‘mv = c : X : X X X . X X . X X X
: : : : : : : : : : : : : : ¥ 16148161010 | i H00.01+6
890}p+6 UM : S S S S S S S S ilwile00 [ | 1116746
6316161164010 | 00 007+6
S5
1 IBILI6LEEL 0 | SiE H00'06€:+6
E v (3
Y] Yol
@ ovosra | 616916490 | ﬂ\___w 100'08€:+6
AT Al 161 246+6
JdE PLIBI0 160 | H00'0L€+6
Be _ : _ _ _ _ _ _ _ _ _ _
of— : : : : : : : : : : : : 691615164 ¥ 0 | E|E 100'09€:+6
. TN FLA _ _ _ _ _ ; _ _ ; _ _ ; =1p
ueolbl= 4 S S S =
G87GE+6 WY : : : : : : : : : : : : : 19166161 GL 0 | s H00'06€:+6
: : : : : : : : : : : : : <|3
: 15181 T 18IS 0 | 100 0%E:+6
: SSIBIBLIBNTLO [ HE 1646
- 1516119 16M S0 | _ Ho00ee+s
SR = |23
B! 83
o VeX o IBL6ZIBHSLO | & | WIT 0002
AT )
8 IBUHTI6IPL 0 | 000146
wINTIBEL0 |t Y 708+6
1€161161 164210 | H00'00€:+6
006c+6 W SIS0 8L L0 | H00'067+6
7116118606490 | 100'082+6
2 101616806410 | P H00'042+6
3 e
d | [s2l(=2]
K S 061128064/ €10 | F\T {00052+6
SG06IPL 06U L 0 100'067+6
, 9L 06906121 0 00 047+6
W/906) = 89 061195 06120 T 76746
w%%mwmw Eﬂ 1 1906115 061F€L0 g5 0006746
) SN
S
2906197064910 | ule 10002246
0908IHTOBIOLO | - 791746
IS08ITH OB S0 £l e 0001246
S
Sles
— 250619506490 | i 0000746
ol 1 [
i s il
Sofal LT 0B 06U w0 | 10006146
e GOIEWIELOF  F e 1G5 19146
= RSRSN 8 SIS
O sooaret o“oim L“ Ty 08U ST0BI YL 0 | Se 0008146
00°08L+6} 1 3 ~+
P nfl
ST O |t S | qdlee (9511146
LE0BILEZ 08 S L0 | 213 {00245
A= o
W N NS
o 20061161064 €L0 | 10009146
|1 _ : _ _ _ _ _ _ _ _ _ _
; : : : : : : : : : : : : 1708 0BU L0 | 0005146
206180064 ¥ 0 | 00 07146
LVOBI006L[OL0 | 0006146
21064668810 | 0002146
o e A S L0OBI066BI-LL0 | £ 000146
- X : X X X . X X . X X . m/_ L
36701+6 Uy IR . I N P T _
K K K K T K K T K T 00 o@-ow mmv..vr O B |__|_ .oo ooF+®
B = 2668161681 €10 | g 10006046
1 L . _ . w\w
P368L0L681 7L 0 | 100'080+6
Wwe /681 = 4 : m : : : : : : : : : : 9L68IZaBBIYL O | 00040+
L£990+6 WX . : . . . . . . . . . . |
11681195681 10 | 100'090+6
1969125681 510 | 100'050+6
o 196011 87'681191 0 | B2 100K+
SE 5= 968IL8YesIOL0 | S 6046
1 o L [\
— : . . . . . . . . . . . : . .
T : . : : : : : : : : : 0968)-Lr 68U €10 | cle H00'050+6
. : . . . . . . . . . . w”
Slw
156819 B8UHL L0 S| H00'020+6
1|
. . . . . . . . . . . . <|=
WG = : : : : : : : : : : : :
o_w%_%w Em_ : _ : : : _ : : _ : : _ SSB9IT681 2L | : H00'040+6
: : : : : : : : : : : : SOOI | | 5600+6
- 6692681 L1 0 | 100'000+6
Eo £l e
23 T 68197681 810 | S5 100106648
v o
I 5
©) oo bas o | 0vB8IEZ68I LL 0 | &S _ 100086+8
: e
. O 6BIL0Z 681G 0 S 10064
SCOOILOZERNGLO [ | T 9] 6964
: 1£681 161681210 | e 100'096+9
HE S
- . . . o3 .
: 07 69)1-L) 68600 | =l 100'066+8
A |8 _ : : : _ : : _ : : _ X2
WOz'68l =\ : : : : : : : : : : : : CHIVEBIILLO | 00 076+8
{E956+8 WY : : : : : : : : : sueitosaitclo bt b CE6+8
LVERILH0BRIEL 0 | H00'066+9
_ 1168116688420 | H00'026+8
: : : Q068IS688ILL0 | . 00'016+9
: . . »
B
m _ _ 0068110688400 | ! H00'006+8
: X X ]
A : m 5698118 8BILL O | col o [00063+8
ks : : <3
D —|O
= 63991-LL8BI L0 | W o00gs+8
i 1]
soooterazlo bt 1997/849
PERILCI88ICL O | 00 018+8
8./93199'881t04°0 | 100109848
£19911 €9 881010 | 1001068+
1998119881110 | H00'018+8
weogsi =y . : : ” ” : : ” : : ” I
£5'CE8+B W : : : : : : : : : : : 198067 88ILEL 0 | H00'068+8
65 98)-7 88U 10 | H00'028+8
909l e aRlEL 0 | 100'0/8+9
eSo8ITraRIL L0 | 100008+
mww e ; ; ; ; ; ; ; ;
R : : : : : : : : 058810881010 | 100'06.+9
(S m— LM. 3 : : : : : : : : 188U SE 8B 0 i 0008L+48
M_ X X X . X X . X . X m/l.
: : : : : : : : : : : &
T ogI0E BRI ¥ 0 | K 0004448
5
_ 1798119788 10 | 0009248
%nw SR
ks 8981167981 10 | SIS 1000848
oo =
Yy e
. S 99110788 10 | 000148
269919881910 | H00'064+8
6798141881180 | 100'024+9
9799180881810 | 0001448
C709119088I L1 0 | 10000449
098170881 910 | 1001069+
LVO9I 088U S L0 | 1001089+
L7 oI 0088I L0 | f 71019+
velagl - 718810088 ¥ 0 | 00'0/9+8
"709+3 W I
2 e 018896810 | 100099+
SOB8I6 18K [0 | 100'069+8
SE . _ . o |nn
ok 6618119881 €10 | Bl 10009+
= V=R : : : : : : : : : Bl
n i : : : : : : : : : : ) _ ) no|
—— _ _ : “ “ : “ : m 168108 18I0 | 100069+
0 U8ISLI8IEL O | 1001029+
Wee' /8l =y m : : m : : m : : m £8 L8169 18110 H0'019+8
G'800+3 1Y o S A
: : 6L SIS I8IYL0 | & 00009+8
. . D
. . v
o 6L 18I09 181FGL 0 | ) 100'066+8
0 g L g
© soeee9 Wl ZW 218195181910 | 00085+8
89815 BIEL 0 | 0010/5+8
S U815 18I0 | H00'09+8
981161181210 | 100106+
888U YL O | 00 0%6+8
YISO 18U L0 | 100'065+9
LG 81181910 | 00026+9
CISEItOL0 bt 159615+
JdE Ly IS 18ILL0 | 0001+9
oS Nl
L0 X
3nw_ . : . _
oI o 18I ST L8161 0 | H00'006+8
— L
: 07'L81FTT 18)}8L°0 F 00'061+8
1618181 181610 | H00'08+9
SCI8ILOVIBILLO | £ 00047+
¢
08IV 18UV 0 | T 100097+
-
OISV I81SLO | H00'067+8
STIBILOI8IOL 0 | 00 01+
6810 L8IOL 0 | 10006+
OV 18116698 L1 0 | 00021+
JE 181195981910 000148
< 2019119598101 0 | W
= VISE9IOL0 | f 75 90748
s
TR L 60 LBIF698ILLO 0000748
eooee W .y
2 6018110698610 | H00'06€:+8
| 2 3
(O p— .A " " 2181106 98U 20 | 10008+
i — — G118 0590 | 001649
2191188 98U BT 0 | I 100'09€:+9
R
D
60181198981 €20 | T 100066+
]
09I9I TZO | 00 0%+
S08IH8'981122 0 | 00108648
00 I8I6L9BINT0 | 100026+
Wn“ 169BILBINZ O | 000648
D
oo
Sleh . _ . _
=\ R A H00'00€:+8
e S598ILEL9BI0Z0 | | 7967+
698112981020 | 100067+
8398169981610 | 100087+
5399189981 L1 0 | 00042+
2098111998110 | 100097+
6L98II8998ILL0 | 1001067+
WOy 98, = m R EE S AR S S ot oo | & 0007249
I HcH m A A S
: : _ : : _ : : . 8LBIHLRITO0 1, 00'082+8
[Tp) D [(p] D %]
P P ® P it
| | | | | | | | | | | | | | | | _
wiw SIS w | >N
= 0 |n |2 = — <C
= = | = | &
Ll | 9 >
- [¥p) VI
O | w 2 | E
x| = T | =
[aNg e — L
LLr =
UIN > |
Y = | m
] )
o &
—
Ll




